BT R — B SCIRAT

1 TORABHEH S R BUE —% 7126,111%20,§4%35.5,JK1£20.2

2 JE LR A —% 24.2,114%21.6,K4718.1

3 JER BB AT ORI —%k #736.7,114210.4,/14£:20.8, [ 43:9.5
4 R Rl O SO 46 B —% 26.5,[14#23.3,)i4%20.8

8 B A B T DU A e 2 R R Mg i —% 23.3,11%6,174£16.2, )i 48

6 T G 850 1% U A £ S T L i —% #517.5,11%213.8,/1%221.6,/54%16.3
7 AEHEMEETMEEIEERES —% 16.7,111213.5,1§4217.4,)84211.7
8 = E R R A TR L A R A — 2% 223.2,114%6.3, 15 5521,)K 14 13.5%9.6
9 T BB 2 7RI R —% 2520, [1447.4,£:29.1

10 IRDL BRI /)N —% 503.7,[14%3.5,)K4%2.2




11 JER BB AT OO & TR —% VE Tl 23.5, 14831, )48k Bl i 14.7, 1142178, /£.4£9.2
12 =R BT R\ R o R A —% W 7526.5,111%6.1,/K415.2x10.6
13 = S R Y K —% 6, 11421.8, %5

14 A R B AUE R T —% 2115.6,111%6,%29

15 R R B R —% 2530, 114218.1,/K4:12.5

16 JEE G WA AE ZE T AR A —2 4.1, 114217*11.5,£4%13.9%9.2
17 JER SN % —% i 758.8,114£13.9

18 JE G A RSO R A —% 216.5,14%34.5,K4#23.5

19 S SR A —% 45 K T7.2%5.2 ik 55%4.1
20 P8 4 W L H . e 2 £ 75, K-8.7%5.2, K £5.9%4.3
21 JEEE S NV —% NIRRT ,114%3.8,/6446.6




22 J R 4 RS SR Wi —2 B11.5,114%£21.3, £ 1214
23 P FA R SR —% K-25.8

24 JibE RN = A A3 AR S 4 R A —% W 12.4,JKK9.7, K %8

25 J# RN =K< R A —2 #K11.5, Kk %04.3,3k 4.9, /K K9.6, )2 3.9

26 JE R = A K5 R S —% #iK6.4,3981.9,5k 2.8, K K5.1, )2 7 1.6, )2 2.1
27 AL T 7S 4 Rl b R B S B R —2 JE B 17.5,41 %32, A 520.9

28 AEARTCH 7S AF B FR b 1% —2 46,/ 741,7%28.8

29 AL TTH 7S - G FE K —2 JE it 4T, 30.4,1%36.5; Rt 25, 24.7,1%16.5
30 JEARTTH 7S A T H e 5 —% £138.5,/°32.5,7428

31 AERITTHI ST I E —2 #46.5,1:66

32 AEARITTHI ST AR —% K-60,%41




33 JERTCH /ST Z T ORI A —2 #125.5,%:18.5

34 JERTTHI 7SR X X —% 16.5,%-21

35 HR I Rl P 1 —2 =21,4:24.5,54%14.5

36 A BRI AR LT B o —2K %541.8,111%£22.8

37 VG JE T PR B —% 510.5,114£18.7,JK£1%16.5
38 V8 J& RS 4 o —% =134, 11%41.4, 1512107, K 4%28.2
39 V] TR S0 o —% 128.4,114%29.5, K %21.7

40 ZHEZFERNE (2374) FHEHL —2 8.7, K17.8

41 HHIHE —2K Ei24J5K, K4£30.5, JEJE20%20
42 SIS —2K w14, [4222.2

43 PR B — 4% 34.5, [14217.7x13.5, JK4419.3x15.5




44 e A 28 Y 22.2, J1§26.5, 14218 K

45 T %A —2K 49, MH1%32.2, %E24.20H K

46 HHFA T o B —% 14.3, 14521, 54216, 25 K

47 T B Iy 4 — 4 JH=26.5, 114£26.5

48 sl —% WE91—21.5, #§22—8.2, F24.5x18—11.3x7.2
49 TS T —2 K5 iE56.5, 111£24.5, JETNH HAZ32; /Neilm43, 145208, T H 1%26.5
50 RSy ek —% K298, 74.9FK

51 BRI AESOT —2 K29.8, 549K

52 e —% £26.6, E15.5H K

53 A i PR —% W29, 14211.8

54 4 LR —% W58, MR R4 E K




55 4 —% 540, 142305k

56 TR S = e A —% 745.8 B L35.7

57 JER G WUR LU 7 KR A —% 26, E31, [81%32, KiE25.6H K
58 JHHEE G SR SOE M 5 AR —%k 7.5, 151%9.5,)K £6.1

59 L 4 SR SOE I 5 AR —2K 2i8,114411.4, /2449

60 5 8 a0 —% i 7539.5, 111%32,/1§7£15.3

61 7H A 2 A T A —2 5520.7,114422%16.3,J5 1% 18.5x13.4
62 BEIEELSUE W —% £-29.8

63 ERAWELE DS aEd —% Fi/1h:33, 517, 735, 36,19,
64 JE S WU B0 7 KR & —% 126, J%1%25.6, 151232

65 BRI TR S B = 2 5 i —% #515.5,[14%44.3




66 4k ] 25 T 7 ) — 4% 1/3:%:26, [11213x8;2/3: K:45.7, [11£20%13.5;3/3: K:60, I 11%24.1x27.8
67 VO AR K A —2 #i15,JK4%219.6, /54212

68 TEH A A (13994 )& & 7 P T4 E —2 #i8,%7.8,%7.8

69 JEE 4 VS R T B AR 1 —% f1525.5,%15.4,f1R22,if@ 5 33.4
70 FIFARTCHE 7N R DR A A —% 21.6,[14512.8,K1%11.4

71 e A JEE 7N A B RR R T T —2K 4 K833, 5 %4-4.6,170.5-0.8,2£1£19.5
72 KA I # xR A5 —% £13.8-19.9

73 TR R B S RAL T SUE A 2R =5.4, [14426.5, K717

74 AL L b N R (WG ok N "t =4.5, 1121.2, JK##13.7

75 TH VTR )\ AL SUE B —% 5.3, 114%20.5, JK%10.8

76 THV R E LR RLUE R 4K B4, 142175, Kz 115




7 TH Ho I SO R SR R T —% =115, [14£23.9, £410.5
78 THEC K E e R —% =8.4, 4217, JKf% 8.3
79 THEL R R R R BUE Wi —% =74, 111415.3, JKf#6.4
80 T Wz B R EOR 1 BRI e R g —% E5.7, N7A11.2, JK74.2
81 THEECBE S R )\ R LU —% =6.4, [14£10.6, Ki%4.2
82 THR PR I = REUE B 2R =5, M4211.9, K#&4.7
83 T R Sohh 1 B 2R 6.3, N#11.7, JK%4.5
84 TH R B SR AE PR A TS0 "t 8.2, [14%8.5, /446
85 TH SR O 5 I RS 2R —% =4, [1446%x5.4, K{46.2x5.8
86 TH R B KB AE ST RS e A "t =24.2, [1/1%25.6, JEK1%8.2x5.6
87 THY R s R B "t %28.2, [1443.8, /£148.6




88 THEC K TG SUE SRS "t =31, [1434.5, K148
89 TR A AL R E R SUE H B 2R 22, [14£3.2, JKz12.1
90 TN B SR W AR RN Ay B 1 7 i —% 26.2, [1442.8, JK4#8.2
91 TH ¥ T AR A S HRE "t =191, [14%25.3, J&K4#46.5
92 TR A A T A SR PR AE TS0 o —% WE28.7, 14812.6, 242107
93 TR RR 1 AL R AU 55 AT —% 289, 1426, JKZ10
94 T Rz R B T AT B SO B 7 8.9, [14426.8, JK4#49.8
95 T 9 TE 2K T b 21 R 1 SO R "t 29.2, [14£22.5, JK&9
96 T8 Wz B R TR TUR SO Wi % w8, 114218.5, JK4&7.5
97 THHC BRI = R SURE T —% =T, %143, BF7.4
98 THEC I SRR 1 FL I e SRS "t 6.8, [11£15.4, JiK4#5.9




99 TH LT A = R BUE Wi —% 6.6, [11£14.6, JiK4#5.3
100 T IE 3K A H S 1 e i —% 7.8, 4213, JK%5.4
101 TV K LR PR AL SUE T 7 6.1, ##12.2, K744
102 LA C YAk ISR AT — 5.3, [14£12.3, Kt4.4
103 T2 R K ) L 4 M 5 Rl DU R Bk SRS T —% 25.6, M1£11.1, JK74.25
104 T AR TE K A 75 R 7K S0 1 s i —% 5.5, ##11.8, K744
105 T 7 15K SRl 1 BRI 2 A 7 7 SRS g —% =55, M211.2, JE74.2
106 TH R R R K R A P SO A 4 w4, 14819, JKE12.2
107 T B R = R SUE A 4 ma44, N7#17.2, JRE11.1
108 THEC R R LR R 7 3.5, [14216.3, J&4##:10.4

109 THYEIERA TR =08 2 BB vk —% 4.8, /3174, JK7%9.1




110 T W R R 2 I T R A -] =4, [1126.2x5.9, E##5.7x4.7
111 NS € =AW A NN R SER ) % =19.8, 11224, K1%24.8
112 TR A QLRSS —% =22, [14£3.2, JK%12.1
113 THHL PRSI AL T BUE B —% =4.5, D117, JK%5.8
114 TR IE K SR )\ 52 908 SUE A - =4.3, 14£20.9, JK##13.2
115 THE KT ML RS - 4, 14521, JK1%13.6
116 T R R SR TR AL —% m4.2, 14821, J&4#12.9
117 JE A I FEAR 5 —% 7.3, [14420.6
118 R AR e —% w10, [14%£25.6

119 JE AR AR 7 W25.4, [144£6.6, K284
120 FACER 7 T R AL SUE T+ —% 220, [14%4.9, K79 K




121 RESGT i ARE —% =4.8, 14210, JKi54.4J8 K
122 5 REER K BRI K B 8O B LA 4 1.6, 4MR13.5%x10, W1%2.9; JKAME13X7.3, EAE41EK
123 TH e EROR G e s R FE A - =17, 014, KR 106/ K
124 THH R I SUE i —% =12, [14%25.6, JE46.3HK
125 T N2 B S 1 AL £ R 1) =38 2% R s —% =54, M14210.7 , K488 K
126 THRL R ARSI A Wi 7 4.5, 148131, JRiE4.3EK
127 K R 2 E —% =12, 14213.8, EKATE K
128 JEARFE 2R 8-8.5, [14#8.8

129 JEAR I A 2R 5, K21x15.3, JK{%9.7%x6
130 RALZE G T M S0 7 Z4.8, [11£9.3, K744
131 REE G /NI ZEIES = 7 5, 1149.8, JKf%4.2




132 RAVE S\ My OZEE R 7 4.6, 14£10.2, JK#%4.5
133 KA & I 55 —% H. 4.8, [04210.3, K34
134 KRG IHEACTE % 7 #5.3 1429 K1%4.5
135 RARAE TS 7 1.2, 114£8.3, K426
136 AR S AL L7 —% =4.6, 11£17.4, JK4#10.2
137 RESRTR —% [18.7J%5

138 RN G5 BREUE TR FE = 7 e 4.6, 428, JRMA3.7; #6: 1.2, N4&14, JRE1EX
139 TH &M 2K 2.7, 11444.6, #46.187%
140 A <6 MISE A PF AR T —% =4.2, 11145

141 WA 4 A BT A —% iK-5.5-5.8, =45
142 TS M 4K H %20




143 A 47K i BA U 2R —% HIE2.6, 952; KA 3-3.2, 752.2-2.7
144 IR 4 A —% =1.3, 2.3, %0.8

145 T E R 7 HA%4.2, #IFK8.3

146 17 o e e A 1 —% BHA%4.2, #IK8.3

147 T 5 42 7 1£6.8

148 MR 4 5 A AR R 4 w14, EHAK2.8, JKHiLK2.6
149 TE TR RS 7 F4£23, ®93.5, k122

150 HRE R A 5 R R XY 1 A 4 =18, [14£8.2, JK##10.5

151 V5 7 R e 7 %19.8, M14£13.4, JK4#10.9
152 HE RS\ R A R - #31.5, 14813, §1£27.3, JK{£14.8
153 A R & 4 12, K16.5




154 G 3 o 2 R T —% =141, [14212.7, €108
155 JeRsE & BRI e SUE Ry & —% =43, 14210, 81811, JK#&5
156 RSN I X G S 7 =44, [14£3.3, K436
157 = A R RE —% =7.6, [14219.6

158 TR AR R S I R —% 5.8, 114420.2, JK%11.4
159 JER A OM T REE & 7 5.4, [14410.6, JK%6.7
160 TEAE ERK R 1 B A —% =4.2, [14220.6, JX4%12.9
161 T IR T TR G 20 A 17 U 1 7 =44, 4207, K#4£13
162 THYE ERK R e aUg A —% %12.8, [14£20.5, JK4#12.8
163 T FR IR K 5 2R RE Atk —% =3.8, [14£17.5, K%10.7
164 THIE SR R F QUE 4 2 3.8, [14 15.6, JK/%9.5




165 T R AR —% 3.4, [14#15.4, JK7%9.1
166 T RERE K B Hh SRR R SO —% 2.9, 4133, KFET7.7
167 T IR TE Sk SR 1 7 2.8, 4131, JK7%7.9
168 THFE IR A6 Bk s SURS il —% =27, 41211.25, J&#%7.3
169 T BREIER K 11 il 5 e g 7 =7.9, 14159, JK4##6.7
170 THIE IERK R A R SUE B 4 7.1, 4215, JK1%5.9
171 T B 1 LB R s 0 4 &7, M14215.2, JK446.3
172 T R EE T A e U i 7 5.8, [1##13.1, JK%5.6
173 T HERE K B M S R AT B AR BUE B 4 6.3, N##11.3, JK#74.7
174 THYE B3 TR AR BUE I 7 6.2, [11#12.4, K744
175 R LK N R A7 —% 19, [14£33.3x21.7, JK{425%13.4




176 THIE IR TSR )\ 5 S0 2 K —% 210.8, [11218.4, K274
177 15 R 2K 1 3 R e RS i —% 6.8, 0415, JE#:5.8

178 T IR 3K M 20 R = SR8 4 5.1, MN#12, JKz4.4

179 T R B R AR\ R 4 3.8, 14213, J£#%9.1

180 THIE IR R B 7 =19, [1489.7, JKf#13.2
181 THYE I 2K 4T R 7 A 4 =11.2, [14218.6, JKf47.6
182 Y N —% #16.6, 14236, JK{%15.3
183 T R R T b — R WO SUE A 4 7.2, [14740.3, K426
184 TH R A R =R R A 4 4.6, 114424.8, JKf%16.5
185 15 RIS K 2RI e SURE A —% 4.4, 114425, 517164
186 TR B A F AT BT T = R B 7 9.5, N#11.2, K744




187 TR ABAE A M A ST R A 7 9.5, N#11.2, 24744
188 TO B M A ST R A —% 9.5, N#11.2, 2744
189 TR ABAE A M A ST R A 7 9.5, N#11.2, K744
190 TO B M A ST R A —% 9.5, N#11.2, 2744
191 THEEEBFAMER —% 4, 1144204, K713
192 =E R BT —% B1214.6, 414£3.8, 2/50.35
193 = R IR AR -t $1211.8, H1£2.6, £%J£0.3
194 TV R EAEAF S B SR B —% =45, [11218.9x14.6, /£1£18.6x14.2
195 TR R AR B HR o —% 45, 4821, JK4#%22.3
196 TR RS AL )\ E ST R A —% 2495, [1148.2, JK4%16x11.9
197 T R I K 770 B U - =48, [1424.9, JKf#12.3




198 TH ¥R AT B SUR —% #35.1, [11%£6.8, J££13
199 THRE MK A TR )\ S SO B - 8.7, 14851, k%31
200 I A Ay —% w10, 114216, f§1%18.5
201 TEAIA LTI = AR 4 229.2, [14420.1
202 T S P S W R o B O 7 W34.3, 14216, JK214
203 TE IR E LR U5 BRI —% =54.5, 11212.3, J&4%18.2
204 75 J& B RS B —% #58.2, 11524, £1%9.8
205 TR T R R e —% 9.8, 114%36.8, JK%25.5
206 R TR LA 7 #20.8, JE1£13.5
207 RACTF SRR —% 1.2, 114£8.3, K426
208 RACTF SRR —% 1.2, [14£8.3, /%6




209 RACTF SRR —% 1.2, [14£8.3, /%6
210 HREMERER = —% 13,45 K26

211 Rt - 21 —% K155, 9104, J5£3.4
212 75 J& T 47 5% SUH 5 —% w23, [1{224.2

213 V& 75 ] 5% SUH 5 —% #23.2, [1f%24.4
214 7 J& 5 45 2 U 5 —% =533, [14£32.8

215 V) 75 A MR S 2 —% %523.8, 14225, £4#2:17.8
216 FRDCETE B S 7 w7, JRfE: 8.8
217 THEEFR B SRIEK L B K —% 6.3, [14835.5, JKf%21.2
218 o B NI 2 7 R A TR T —% #19.5, 14210, 181203, J£%11.8
219 JEEAE MR A IR —% =40.7, [1124.8, K216




220 JETRTOH 7S R ) L A 1R 7 24.1-28.5

221 R RS T AR I AR —% 5146.2, %4505
222 MR 4RI 7 15

223 JEARKFSFE RN S A —% =1, K2, %07
224 JEAR ALK 7 TR o 7 =10, £10.9, %
225 JEERI R —% 56, [14224.5, JK/%29.3
226 = RS EHL —% P17.5

227 P SRR AR B ) —% K:35.1, ®5.5, M4#7.4
228 J e SRR AR —% =145, 11214, JK48.6
229 T FEIEFOR B HR "t =48, [14%£21.5%18, JK1%21.8x17.2
230 RES HEHEIR R —% 4.8, 110




231 AR A —y D€é14.8\%1ﬁr§ﬁ%11\

232 TORA AR SR B 7 1.6, [14#16.5, K413

233 VG JE 5 RSl H R 46 RS -] w15, 1M14213.5, f§1£23.3, J&K&13
234 BEME TR ILLOE T —% £29.8

235 TR ABAE A M A ST R A 7 =9, N#E11.2, 24744

236 WA AR AL = 2 [ "t #515.5, [14£32.6x34.8

237 R LT Rl L R 7 =19, 4810, 54426, JRIEKE14.2
238 75 & J AR T ED SO b —% w405, 2. 22, JE1R47.5. J&fR: 27
239 78 JE 21D P = —% 326, [14£31.2

240 T BB 2 7 A T A 7 H41.7, 1142107, §84222.7, K215
241 T4 ELBUE JE 5 —% =41, 14749




242 5% 805 2 5 7 w27, [14222.5

243 AL TSR AU —% =17.5, [14£21.2, K%15.5
244 EERiE S2E 7 #5122, 114£31.2
245 4R S 2R F4%21.8. i 15.23 )8 K
246 1 i 41 4 —% 528.5, [14%£20.2
247 L —% 15.7, [14%220.2
248 RSy ek —% +:29.8

249 78 & LAR EN SO0 4 E A P i 4 324, H211.6, K222
250 B KT PR SO IR B 5 7 7, [14215.5, [§4416.5
251 FRK T RO AR IR LR S0 BN S o s 4 220, 14813, JK/#13.8
252 HAKT R i 5 B O e —% WE24, 142135, JK4#4:16.5




253 T 5 e ] 5 —% =13.7, 14212, £446.8

254 RDUT RO R B A 7 =24, [1/%£12.4, J£4#12.3
255 = ] K ) T I e —% #125.2, 111%£6, J1£24.9, JK1£11.6
256 VR 7 T R Rk —% 511.3, K17.2

257 =R R ETUEH MG -t w4, K11.5

258 AR AR RIS R —% 529.5, [11212.7, 1§1%25.2, E4%15.3
259 JERIDER TR RS —% #16.5, K15.2x14

260 AR A AR SR I AL SUE M R —% #539.8, [1426.6. JEK429.3

261 JERFEEEHF O O RE TR & —% =4.2, [4£5.6, K251

262 RSB AT AR TS A 55 & HE - =9, [14#5.7, K742

263 JER B A T ORI RS - #11.5, 1486, JK#&5




264 T e R K (1 B B Rl e SUA Wi 4 #76.8. 11215, JK%6.7
265 T R ER R 3R =R AU E R R i —% 26.7. 11214.9, £4%6.7
266 T R R A K AU R 7 16, H1£18.5, K215
267 75 R EE B 41 e 7 A B 7 6.2, [4811.4, JKi14.4
268 THYE IEA SR PR 808 A —% 3.3, H4£15.7, K210
269 T 9 TE K Y 20 R B0 S0 15 T B K 4 4.8, M1#3, K46

270 THIE IE2K 07 2R 75 AR AR 4 #520.8, [1427.8. JE4210
271 TH K TR SR TR B VR "t 5105, H421.7, E%3.4
272 TH TR R BAEAR 7 SO 7 3.9, 148204, J£4£12.9
273 TH VLR UM | - 230, [1448.8. 24#10.7
274 T2 B R T R e H R 7 #530.3, 14214, JK1%15.6




275 T R K A& T Rl o B M 7 236, [14£2.8, JK1%6.8

276 40 LU —% =212, Jg#19, 1785k
277 R P —% #525.3, 1482028 K

278 RS2 e —% 27, [14£22.2)5 K

279 T X —% Ef£3.5, K125/ K

280 B "t B0 K

281 JE AR L5 —2 K:43.5,7i26

282 KE[ET JBL N —% H 1526

283 T L RS —2k #hK:-104.3,4-K:285.2,5793.3,%:184,7:90.5
284 B 0 S A 7 4 P - —2K 43441620, % 39.3, H 02K 1181, % 37
285 T HE I T s PR ST —25 #1K:69.6,4:K:239,%:59.6,K:104.5,%:42.5




286 IR ORI SR A5 4 —% .64, 41262, %1536, 1 K. 156, 5 26

287 HHZSREBRETE —2% 4:K:1180.3,5543,.0,K:159.8,7:42.3

288 WA ERAT BT % —% 139, 59, 67, 55429, 32, 28, 32

289 WRIE A 4 B I DT T —2% 4:K1919.7,9:37.6,5118.1,5:31.2

290 HARLAESEF45 —% AK1190.1, 9£32.5,K471,5526

291 T 7K A7 HEART A4 JHE A 0T —%% 41K51.6,%144.1,134.8,7:19.4

292 T PR B KHT S A —% 41K32.4,%141.2,125.2,7:16.8

293 i e FL O L A P v —% Fi1.85.2,4:%218.8, 5 77.5, L+ K 130, 5 71

294 HHIR O L FE B N EFE —% fic41.6, mLH1304.4, £i39.6, 4xK1721.4 414
295 TRIE YT S R - DU B I —% H.OH37.5, £63, &K1, 14681

296 HRE T NREZETFSE (D i HK30.8, m.o21282.6, #30.1, 4:K1570.9 #30.3




297 HEE T E LR BEE —Z% 38, m.LS501.7, #i34.6, 4:K709.9 1438

298 15 REERAT F 3L 5 % Y127, #4443, K165, 3750, K60

299 15 9k A7 L JE ] R 7 100, m.0Z0142.4, K774, 4K306.5, £489.4

300 k47 T £ KR B ~ 4 K497, W48, H161.8, £K496, {1943




